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instructions:

. on the conductor’s cue, start playing the notes in the first bar,
in any order desired.

. the tempo and texture per bar is determined by the
corresponding dynamic marking (forte: fast and brash,
piano: slow and delicate). the conductor does not conduct
time, only cues.

. all notes should be of a short length.

. when the conductor cues the ensemble (with their hand,
voice, or any other obvious method), the ensemble moves to
the next bar.

some notes look like: . this means that you are allowed to
play any note in that range, at a rapid rate.

other notes

. some clusters appear _ next to normal notes. play the nor-
mal notes as normal,=®#=and then play the cluster for a cou-
ple
seconds. repeat until the next cue.

. the piano part is for two players: one for the treble, one for
the bass.

. the percussion part is split in two. if there is one percussionist,
choose one line and play the dynamics and it’s associated
tempo. if there are two, one plays the top, the other plays the
bottom.



conductor’s score.

cue the start.

wait a bit, at least 15 seconds.

cue the next bar, indicating the number with your fingers.
do this 27 more times.

cue the end.

here’s a handy thing so you don’t lose track.

l 2 3 4

5 6 / 8

9 10 11 12
13 14 15 16
17 18 19 20
21 22 25 24
25 26 27 28

how to cue the numbers with your fingers:

the left hand represents the right-most number (eg 27, left hand is 7). for num-
bers above 5, change the number you show with your hand between 5 and the
number added to 5 to make the new number (eg 7 would be 5 and 2, changing
quickly.

the right hand represents the left-most number, and is not brought in until 10.



don't run with scissors.

piano (two players)
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don’t run with scissors.

flute
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don’'t run with scissors.

violin

i. french

’

L

4Hﬂ

mp

H-

il

e

[ & an

16

%5

4

13

20

4

9

H*

P2 duetf

mp

24

mp

28

27

26

25

¢

o«

¢/

mp




don’t run with scissors.

bb trumpet
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don't run with scissors.

alto saxophone
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don't run with scissors.

bb clarinet
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don’'t run with scissors.

violoncello
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don't run with scissors.

tuba
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don’t run with scissors.

percussion
i. french
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don’'t run with scissors.

electronics
i. french
KEY: approx. sine freq//approx. gain, length of arrow = how fast the transition is,
? = random; as fast as possible, % = same as bar before
L 0//0 —-->85//60 -2 110//90 O Y/ — > P 050 o
[ | | | |
| ] | | | |
R 0//0--->140//40 ----- > 160//50 ---->  150//60 ---> 190//90 = ---——-- >
% 20//50  -eeee- > 0 220//30  coeeee 7 70//120 5% 2//140
(1] | | | |
L1 | | | |
130//70  ------ > 80//60 - >140//80 -->10//10
7 % —>0120//100 > "130//120 --> 2190//100 >
1 | | | |
| ] | | | |
?//140 e >200//M0 - >150//100 —---> 80//120 >
' 140//130 > % 90//100 e > 2//150 6 o, >
(1] | | | |
LL | | | ]
100//130  ---------mm- >130//90 --—-> ?//150 ----> 220//130 - >
"7 120//100 > 8 140//60 - > 79 240//40  ---eeee- >20 2//150 >
H I I I I
240//80 ---->  250//70 - >200//70  --—------ > 230/100 ——->
21 230//80 ---->?//150 42 ->?//0  ----—-- > 25 210//70 - >24190//60  ------ >
1 | | | |
L1 | | | |
230//80 ---->300//100 ----> 260//90 ---->220//76 -—->
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-——-> 26 80//10

> 27100//80
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---->  240//70

_________ > 200//70

5 100//70 -->100//0



max patch for electronics

(i've only got the trial version, so you’ll have to
base it off of this screenshot.)

integer (press i)
ﬂ ﬁ * 2 to get the range**

153. ' B8.5
"1.25 *1.25
%.rr?u b\l:anlis to be g:n:ﬁing at *1.25 to get the range **
€ blocks in red, they
should reflect what's on
the score
gain=~

**most MIDI controllers
only go to 127, so this is
accounting for that

110.



